than psi. Is it necessary L0 rEEXPrass Caen uLser
vation in ksi, or can the values calculated in part
(2) be used directly? Hinr: 1 kg=221h

36, A sample of 26 offshore oil workers ook part in 2
simulated escape exercise, resulting in the accom-
panying data on time (sec} (0 complete the escape
("Oxygen Consumption and Ventilation During
Escape from an Offshore Platform,” Ergonoemics,
1997: 281-292)

tw
e

389 356 359 363 375 424 325 394 402
373 373 370 364 366 364 325 339 393
392 369 374 359 356 403 334 397

[P & T E T ST Y
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a. Construct a stem-and-leaf display of the data, T3
How does it suggest that the sample meag and 1.01°
median will compare?

b. Calculate the values of the sample mean and
median, Hint: 2x, = 9638.

¢. By how much could the largest time, currentty
424, be increased without affecting the value of
the sample median? By how much could this
value be decreased without affecting the value 40,
of the sample median? ’

d. What are the values of X and X when the obser-

vations are reexpressed in minutes?

S

a. If a constant ¢ 18 added 1o each x; in a sample,
yielding y; = x ¥ € how do the sample mean
and median of the ¥'s relate t0 the mean and
median of the x.s? Verify your conjectures.

b. If each x; is multiplied by a constant ¢, yielding
y, = cx,, answer the question of part (a). Again,
verify your conjectures.

A2 & n avneriment tn studv the lifetime (in hours) for a

= - .
l Bf Ys Yh Y8 LUD 114 128 131 142 108

&

Exercise 36 in Section 1.3 presented a sample of 26
escape times for oil workers in a simulated escape
exercise. Caleulate and interpret the sample standard .

efinition (1.e..
hen squaring

R T




58. A company utilizes two different machines to man-
ufacture parts of a cerfain type. During a single
shift, a sample of n = 20 pans produced by each
machine is obtained, and the valpe of a particular
critical dimension for each part is determined. The

1 ; Dimension
105 115

comparative boxplot at the boitom of page 46 is
constructed from the resulting data. Compare and
« contrast the two samples.

64. The amount of radiation received at a greenhouse
plays an important role in detcrmining the rate of
photosynthesis. The accompanying observations on
incoming solar radiation were read from a graph in
the article “Radiation Components over Bare and

. Planted Soils in a Greenhouse” (Solar Energy.

s 1990: 1011-1016).

63 64 17 84 85 8% 89
90 91 100 101 102 106 106
107 107 108 309 111 112 112 p
114 119 119 122 131

\ - quartiles, and comment on wnat you see. -

72 éﬂﬂetydisordusandsymplmnscanoﬁenbeeffec.
tively treated with benzodiazepine medications. It is
known that ammals exposed to stress exhibit
a decrease in benzodiazepine receptor binding in the
ﬁ:ontal_ cortex. The paper “Decreased Benzo-
diazepine Receptor Binding in Prefrontal Costex in
Combat-Related Posttraumatic Stress Disorder”

(Amer. J. of Psychiairy, 2000: 11201 126) described
thcﬁrst study of benzodiazepine receptor binding in
!ndmduals suffering from PTSD, The accompany-
ing l':lata.on 2 receplor binding measure (adjusted
$MnMWM)WWMaMiuM

PTSD: 10, 20, 25, 28, 31, 35, 37, 3
plip , 37, 38, 38, 39, 39,

Healthy: 23, 39, 40, 41, 43, 47
g .47, 51, 58, 63, 66, 67,

i Use varions methods from this chapier to describe ~ *°




